HaT A

ERARSHHEEEREBRICHOMSHREERBOEE

I BEEERBICHRETIEERDBBE %K

B A P i Hi (X A EIFSE DR B A BN = T
% # A S w & | F 5
1 [FATI JEF0 T AET #h A %  0.09 ha 1
2 |%%EBT4-1 EFfiETR ERT R T B #IA #  0.09 ha 1
3 |gk EBET19 ERETEE R =T B N #  0.05 ha 1
4 |J\{ERT5~-1 FEFO B T\ REET Hi Py 1 0.03ha | —HRIERE 3
5 |J\iEHTS A T EET Hh #  0.05ha | —H¥EE 3
6 |/NsrET2 S ETANSFRT =T B #ip #  0.08 ha 3
7 |EFEHHTI-1 BRETHT_TRARUEHAETENA | # 0.4l ha | —EEE 4
. 8 |FEFFHI3-4 EMBETTRHETZT BN # 0.11ha | —HfERE 4
9 |HHAT21-1 FEFNE T PR — T B HipS #  0.19ha | —ZEE 4
10 |FELRRAT2 ERTELRIT—T B HipS #  0.09 ha 4
11 | LEEr2s FERf AT ELBEN =T B #iN 9 0.09 ha 4
12 |SE--pgET31 R E I BRI T B N #  0.10 ha 4
13 |FELRRIT44 FEMEATMELEIT =T B #AN M 0.12ha | —¥R¥EE | 4, 7
14 |¥LHET46 EFEMELBET =T B #iN 9 0.02ha | —HEE 4
15 [EApENT9 R LEIT =T B #ips #  0.19ha | —HEEE 5
16 [ ARHHT4 S0 R SR T P 9  0.19ha | —HHRE 5
17 |FRFHHET22 FETETEHET =T BN #  0.12ha | —IpiERE 6
18 |ERFHFAT25-3 EMAHEFIT=T B#A #  0.02ha | —iRfEE 6
19 |PE2PNET2 R BT 2 PIRT P "% 0.06 Ha 6
20 |WEZHAT10 R0 BT 2 P T Py ¥ 0.07ha | —EpHEE 6
21 [MRENT2T7 JEEFD EH T /A R BT PN 9  0.09ha | —EREEE 7
22 [/MRERT32 R AT/ BET HIN ¥ 0.09ha | —EpERE 7
23 |/MABHEr35 FEF BT/ BETHIA #  0.09 ha 7
24 |/MEERT36 FEF R/ MA B RTRA #  0.06 ha | —HIEE 7
25 |/ EET50 T T /M LT H Py ¥ 0.14 ha 7
26 |/MAEBET5T7 0 H AR AT H A #  0.15ha | —ERHEEE 7
27 /NRABETS8-1 | BEFnH AR AT Hpy #  0.21 ha 7
28 |/MRAENTE8-2 | EFnETH/MR BETHIN ) 0.06 ha | —ERHEE 7
29 |/MAERTEI-1 FERnE /A ELRTHIPS #  0.06 ha 7
30 |/MRELETE6 FEFN T /e AT MY #  0.07ha | —#HEE 7
31 |/MaEHETS1 FFD E AR RT HEPN # 0.22ha | —IBHEE 7
32 |/PREETS3 A0 H T ARERT LA #  0.14 ha 7
33 |HARAT1-2 FEFN B AR HhN #  0.14 ha 7
34 |HEIRHTS JEFN E AT AR T Hh Py # 0,17 ha 7
35 |HURHETE-1 SR E T T HiL PN #  0.06 ha 7
36 |HEFRT8-2 50 A R AT H #  0.03ha | —ZBHEE 7
37 | FHEErT FFATTHEN=TEH#N | & 0.10ha | —E8E 7
38 | TFHLEET31-1 RO A BRTHIN #1  0.10 ha 7
39 |XHT7 FEFIHM AR =T B #iN #  0.16 ha 7
40 [ RHETIXE2 JEEFD T AL RR BT HUA # 0.30ha | ~%4EE | 7. 8
41 |MhFET6 270 H T R AT R #  0.24ha | —ERiEE 8
42 | RET26-3 J 0 FE T L T S ¥ 0.14ha | —¥iEE 8
43 KT X Ej6-2 FEFRET R T B 8N % 0.19 ha 8
44 |BERIEET10-2 J5 70 FE T U KRR T P M 0.07ha | —ERiEE 8
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P A RE L IR A [E8TE DR E A EE Rk B &
% ik A [ | H & | &5
45 |5 ARET9-4 FEFnE T4 AR HA ¥ 0.10 ha 8
46 |4 AHT9-6 AR T A R HL P ¥ 0,24ha | —EHEE 8
47 |5RET11-2 AN T4 RET HA #  0.54 ha 8
48 |&ARET11-4 0 B A AT MY #  0.05 ha 8
49 |5 ABT11-5 FA B4 AR HPY #  0.08 ha 8
50 |4 oKHET12-2 BN ET EIEETHEN #  0.07 ha 8
51 |HRXET2-1 R0 T B RKET HE N # 0.12 ha 8
52 |MIAXFET14-3 | EFAT EERKIT A #  0.08 ha 8
53 |[ME{&EXKET18 EEFn E T A KET HIN ¥ 0.10ha | —HfaE 8
54 [=mHAT2 JEFN T = HETHN #  0.07 ha 8
55 |= MHHET12 SR ETH = AT HIPY # 0,13 ha | —¥pEE 3
56 |=FHHT14 FFNETH = ARTHIA ¥ 0.03ha | —piEE 8
57 |=HHET22 R0 E T = WETHLN #  0.31 ha 8-
58 |=HET30-1 AR = BITHPR #  0.06ha | —¥EE 8
59 |EEGHET1-1 SN FE T ST HE Y ¥ 0.08 ha 8
60 |BEHHET1-2 JFF0 H TS ET N #  0.19 ha 8
61 |EEEHT3-3 S0 T BRI T HE P ¥ 0.42ha | —EREEE 8
62 |BEEHTS JEF0 TR BT LN #  0.03ha | —IFIRE 8
63 |EEBNT36 JEF BT AR ET H Py #  0.15ha | —HRBE | 8. 9
64 |EEE XT3 =0 H v RSN H P ) 0.20ha | —EREERE 8
65 |BEIE X 5 FFETEERT A #  0.07Tha | —HEE 8
66 |BEEXE10 50 TR R T H PN % 0.06 ha | —IEEE 8
67 |BEB K13 EF0 T RIS ET H ¥ 0.33ha | —EMEE 8
68 |BESXE14 S0 T ST HE N ¥ 0.08ha | —¥RiEE 8
69 |EEEIXE15 FEF0 F T BRI HT HL PN #  0.06ha | —EBEE 8
70 | EHET15 BFIET_CATHIY ¥ 0.09ha | —3EE 11
71 | EET26 FEFE T LR #  0.05 ha 11
72 |FE_LHTS BEFnE TR LT T B HipS #  0.10ha | —ERE 11
73 |EE LET11 FERETTE R T BN ¥ 0.08 ha 11
74 |#9.EET18 JEFOE TR _ BT T B % 0.09ha | —EIEE 11
75 |58 K729 EFETER AT T BN % 0.12 ha 11
76 |Fa_EBT37 RN R T B HAN ¥ 0.11 ha 11
77 |M kB39 ERET R _ LR T B #  0.06ha | —¥BHEE 11
78 |®§.EBT44 BB LR T BN #¥  0.06ha | —HEE 11
79 |EA:HT10-2 BT EAT—T N ¥ 0.04ha | —EIEE 11
80 |tA=HT23 FERmAT AR T BHN #  0.06 ha 11
81 |LAEWT27 FERETT AN T B HiN % 0,08 ha 11
82 |A-AHT70 BRI L AERT HLN #  0.06 ha | —ERRE 11
83 |LAMT87-2 BEfmT LAER-ET B AN % 0.06 ha 11, 15
84 [AAMTL EFnETTEET T B HiN % 0.06 ha 11.
85 |THAHT26-2 BEFET/ARAT =T B #N % 0.19ha | —EpIERE 11
86 | EAAET26 R T AR BT R ¥ 0.06 ha 11
87 |LAHT74-2 FEFn BT A HT HP ¥ 0.07 ha 12
88 |fECVET13-4 SR L AERTHIN # 0.04ha | —ERERTE 12
89 |#EIFHET6-1 0 B T BT HE P #1 0.08ha | —IRERIE 12
90 |4EIFHT15 S0 AT AR H P %1 0.09ha | —HFEE 12
91 | TFHAHET45-1 JFERNE T TARETIO T B H#iY #  0.26ha | —4pHEE 12
92 | TFHART45-4 SR ETH FAARTIT B Hipy ¥ 0.06 ha 12
93 | TFHART62-1 JEFN BT R A T HLN #  0.06 ha | —ERIEE 12
94 | THAET62-2 JSEFN T _EANET HLN #  0.8.ha | —HIEE 12
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A TE AR

Py 4 EHEE D e FEREH il
M i B A " = | &5
95 |"TFHAKT62-3 FEF R TR #  0.17 ha 12
96 | THAKT62-4 FEFNH T T RRTHLA ¥  0.11 ha | —&ffgE 12
97 | THKFT62-5 FEET TR R CEART#A| 49 0.29ha | —¥BEE 12
98 | THAET76-2 FEFD H i _ERART HiA 9 0.32ha | —iEE 12
99 | EAARTI2 EfnEH BT =T BHN #  0.08 ha 12
100 [_EAAFT19 EFE T AR BT B # 0. 11 ha 12
101 | EAAET30-3 BRET AR, TRRTRCLRETA| 4 0.70 ha | —2HEE 12
102 | F#AET33 ERnE ERBTRA % 0.21ha | —&sE 12
103 |RAERT31-2 FEFNE TR AERT H Y 0,04 ha | —IMRE 12
104 {EBART41-1 FEFnE  RAERT HIN % 0.26 ha 12, 16
105 |BARE9 EFEMRARZT A #N ¥ 0.13ha | —HHEE 12
106 (Bl 10 EFEARAER =T BN #  0.15 ha 12
107 |BAK K38 AT REAR T B HA #  0.06 ha 12, 13
108 |BARESO EFIETRAR LT B #iN #  0.06 ha 12, 13
109 |FLET13 FFnE i = A ETHLA ¥ 0.09 ha 13
110 | imT16-1 S0 H R LT N #  0.03ha | —¥piEE 13
111 | LIAT16-3 0 B £ B L BT RPN #  0.06 ha | —EMEE 13
112 B LBT17-1 70 FE 77 R L BT i ¥ 0.05 ha 13
113 | LIBT17-3 50 R L BT A #  0.04ha | —EMEE 13
114 |/ LBT18-1 S0 E I L RT M % 0.03ha | —EpHEE 13
115 |f LilyT18-2 JEFR EE 7 B )L T HA P £ 0.04bha | —¥ifesE 13
116 | LT 25-2 J53F0 B 7 (R LT P ¥  0.10ha | —EEE 13
117 | 1L%T26-1 70 H T IR L T P % 0.10ha | —EfEE 13
118 |/ (LIET26-2 JFEF0 H v B LT #  0.16 ha 13
119 | my30 JE2 1 i L) T M A #  0.25ha | —ESIBE 13
120 ([ [LIBT31 S0 B I L BT i ¥  0.11ha | —¥BIRE 13
121 [[d T34 S B T I L BT HpA #  0.62ha | —ERIEE | 13
122 |[¥1L1ET36 J 0 BB 7 R L BT #  0.20ha | —{pfeE 13
123 | = FHKT40~1 BEFnE i = AT A #% 0.12ha | —EEE 13
124 |=MHET51 FEFE ™ = EET AN # 0.11ha | —ERERE 13
125 |=mHHAT52 EFHE T = RETHIN #  0.04ha | —EB¥EE 13
126 | = MHEy55-2 FEFn T = W ET Y ¥ 0.12ha | —EffEE 13
127 | = HAT55-3 70 = BTN % 0.09 ha 13
128 |=HFT58-3 FEFNETH = AT # 0,12 ha 13, 14
129 [=mEET70 B0 T = R ETHN ¥ 0.11 ha 13
130 |BAERT11-1 S5 70 H T ] L ¥ 0.19 ha 13
131 |BARE 14 BERET AR AT B H#AN #  0.27ha | —H$E%E 13
132 |BAXEI4-3 |EMETERANET BN #  0.05 ha 13
133 [BAXE22 ERETRAEN T BN #  0.08ha | —ERIEFE 13
134 |BAXIE25 ERETTRAR ST BN ¥ 0.05ha | —EB¥EE | 13
135 |BAXE27 FEFETREAR AT BH#N ¥ 0.15ha | —ipdEE 13
136 |BAEXKE28 FEFETRAR AT BHHN # 0.08ha | —IpTE 13
137 |BAXE30 EfEHEER AT BH#N % 0.08 ha . 13
138 |BAKESI-1 FERETRARST BN # 0.08ha | —HIEE 13
139 |BARKFE36 FEFETHREARNT B HN # 0.15ha | —EEE 13
140 |BAE K42 SRR ETT ARG B HpN # ° 0.10 ha 13
141 |=mHHET48 JEF0 = TP ¥ 0.05ha | —EBIEE 14
142 |=HHT59 B0 = M ET#p # 0.02ha | —IBEEE 14
143 |=mHHT67 FEET = HETHA 1 0.02ha | —¥BIRE 14
144 |fmET13 FEFD TR — T B #i19 % 0.07 ha 15
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! A PERRHHL X A EIFETE DR A EER M [T
% R AT m s = | &%

145 [fHAT14 B Fn E BT T B #N % 0.05ha | —ER¥ERE 15
146 WBESSFETT FEFE TR =T B #UN #  0.10 ha 15
147 WERSSFHTS SR TR T BN #  0.10 ha 15
148 |HEZESFET10 JEFDE TR —T B HiN ¥ 0.10 ha 15
149 |#B3EFET20-4 ST AT RORETHIA #  0.23ha | —¥iEE 15
160 |FEAHT3~1 ¥ E AT AHT M % 0.12ha | —IBi5E 15
151 |-H4ERT12 JEFE T EAERTHIN ¥ 0.12ha | —¥plEE 16
152 |H4ERT18 J2F0 T P RTET =T B Hipy £ 0.14ha 16
153 |H4EB120-4 BEFE T AR HIN ¥ 0.07Tha | —iBiERE 16
154 |4EBT20-5 S0 T R AT HIN #  0.11 ha 16
155 |HEANTE-1 JEF0 T RAET HIPY ¥ 0.12ha 16
156 |JEAHT6-2 S0 T SR T HE P ¥ 0.11 ha » 16
157 |¥iAHTS EREFRAR EONBETHA| 8  0.34ha | —¥EFE 16
158 {E _ERT3 FEFD E T EAT HE N %  0.05ha 16
159 | _EHT5-2 E T i EETH % 0.06 ha 16
160 |E L-FT5-6 JEFN E TR ENT HN # 0.10 ha | —ERIEE 16
161 |E _EE6-1 EF BB ¥ 0.23ha | —¥BEE 16
162 |E _ERT7-1 B ETARET, M ERTEOU\EEER ] 8 0.45 ha | —IZRHEE 16
163 |E HHT10-2 E T AT R TR #  0.07 ha 16
164 | TFHRAHTET SRR _EATHAN ¥ 0.40ha | —HfEE 16
165 | TAARTT73 JEFIEATFIRIT =T B #iR #  0.17 ha 16
166 | TRAHI75 FEFETFRET =T Bt #  0.16 ha 16
167 |BAERT41-2 S0 H T R AR BT BN # 0.10 ha 16

B2 167HLX # 21.95 ha

HE)VEEEERIERICR
XK gy
A FE f R X 609X #9 109.47 ha
FETE A PEREHIE TE 35831X "% 53.38 ha
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